[ Efficiency vs vertpos |

= 0,1: " T M

Q.09 -+++eseseivesreresens SRR e

o E 5 5 :

2.0.08F e proee e

(8] F . . .

SO.07F -eeresizereeenes e R

s _F : : :

o s fee
0.0 -+++eeesieeeenene e R
0.04F -+ fromen SRR s
0,08 -+ orfrrroe N S

0.02F -+ e ST VTR N
0015— ------- *++++

1.0

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— 2/CMSSW_12_3 X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO
Efficienq —— cmssw_12 3 X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mKkFitNEW__RECO

~ 0.5
T S R P R

o F : : : . :
> 04 [AREES AR R i e
> E : : : : :
2 E : : : : :
R S e A A
o E : : : : :
£ 0.3 AR A A Preenees
o E : : : : :
L il LR S S S
7N S S S T
T T
R D=
7 S RO S S N
Quouu' ¥ I L
T r i
o L N
1_— ------------ >-g< " B
095k : i i : :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.01
>
80.009
5008
%.007
>
3.006
@
£.005
(]
0.004
0.003
0.002
0.001}

D
T T T LTI

P06 6 4 -2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


